TYPICAL X FEED

TEILELISTE




1

11
1/2
1/3
1/4

1/3

Transporteinrichtung
A-Version
B-Version
C-Version

D-Version

TYPICAL X-Feed

1// Teileliste



2

TYPICAL X-Feed

1// Teileliste

1/1 Transporteinrichtung




=

O N ok oN—

Ref.-Nr.

5150209018
217° U00 002
580010010
580 010 009
5150 866 076
580010 011
580010013
BX87 459 009
B098 500 574
580 010 006
580010 012
580 009 030
580012 004
B996 549 059
B988 339 009
580010 007
5150299004
580 010 008
580031 038
217 100016
5150211009
B952388009
B096700678

Bezeichnung

Screw M3x5

Screw M3x4

Washer

Feed bar shaft

Needle bearing K20x24x10-A 0-2
Feed lifting rock shaft crank
Excentric wheel

Screw M6x0.75x6
Screw Mbx5

Feed bar

Feed bracket arm presser
Slide plate assy

Slide plate

Spring plate

Screw

Feed bar

Screw Mb5x12

Feed rock bracket arm
Cover

Feed bar shaft

Screw Mb5x10

Washer 4.2

Screw M3x4

Menge

NMNONN /" N/ N— = =N, BEN_2,2NNNNNNNN D

TYPICAL X-Feed

1// Teileliste

Bemerkung



4

TYPICAL X-Feed

1// Teileliste

1/2 A-Version

Nr. Ref.-Nr. Bezeichnung Menge Bemerkung
17 580 012 031 Feed dog 2 1
18 580012 030 Feed dog 1 1
19 022 610 004 SM3.18-44x6 4
20 580012 033 Stitch plate 1
21 580 010 039 Bolt 1
22 217 U00 101 Dial 1
23 217 °U00 100 Dial assy 1
24 027701000 Presser foot assy 1



5

TYPICAL X-Feed

1// Teileliste

1/3 B-Version

Nr.

19
22
24
25
26
27

Ref-Nr.

022 610 004
217°U00 200
027701 000
580 012 003
580012 032
580 012 001

Bezeichnung

Screw SM3.18-44x6
Dial

Presser foot assy
Feed dog 2

Feed dog 1

Stitch plate

Bemerkung



6

TYPICAL X-Feed

1// Teileliste

1/4 C-Version

Nr.

19
22
24
25
27
28

Ref.-Nr.

022610 004
217 U00 200
027701000
580 012 003
580 012 001
580 012 002

Bezeichnung

Screw SM3.18-44x6
Dial

Presser foot assy
Feed dog 2

Stitch plate

Feed dog 1

Bemerkung




7

TYPICAL X-Feed

1// Teileliste

1/5 D-Version

Nr.

19
22
25
27
29
30

Ref-Nr.

022 610 004
217°U00 200
580 012 003
580 012 001
027 C01 000
580012 040

Bezeichnung

Screw SM3.18-44x6
Dial

Feed dog 2

Stitch plate

Presser foot assy
Feed dog 1

Bemerkung



XFEED

This machine may only be operated by adequately trained operators
only after having completely read and understood the instruction manual.

Parts are subject to changes in design without prior notice.

VETRON TYPICAL EUROPE GmbH
Clara-lImmerwahr-Str. 6

67661 Kaiserslautern, Germany

Tel.: +49 6031 320 75-0

Fax.: +49 6031 320 75-11

info@vetrontypical.com
www.vetrontypical.com

X-FEED — PartsList — DE —03-2012





